fat \033¢
Larson = e
.3‘1)3'3)3'41—35—‘

SOLUTIONS 4o
PencTice For Test OB)

D slope  (s5,-4)
(=2,7)

L )
=gl

> slbpe (-2,5)
(4,-a)

m= 5--a @
—a—Y —

©) Slope of Ax—%y =C

==3 o
5 .__g’"+__—?
) v
S
\j:mxfb

@ Slope of line / 4 thy =7y =
(0 lines need same quoe)

LfX—73=Ca‘+
"73:—4—)( + M
y=Zfx+t |\m=1
TF =

sife reci M=
Moo ©
check . (LY L) =-1

standard form
e%uaHom in G(“a¥ibb:c’)
-59)
(—3,-%) poin :
= =g . N Cl% ff;ork_
=5 —;—_3 —3 ==
{é—'(j‘_ MCX-*IB
W — o8 :’(o(X“'__"S)
(j-uf :—Co@ﬂ +57)
lﬂk% = —GK -30
(he) m=kf ==
(5,5 e

/
po'm'i" 4,60 =0%90
slope = "":—-g‘-

— r:mcm—\(.)
%—2 =—2(x —4)

p=—2y + 8
v b'q* 5
infex = 4O
Slope interc ;é)r

_(_
L

= solvé ':)
-] ‘;'%x *—%W
= "%)L k%\—-(.']_.%
y=grr B2

Ly =
W=ty

@ veticd D %=c

trough = [X=5 )

5,-3)
S | = y=¢C

horizonta
A

(q,=



4
@@ (o b~~&m+ur \

through (8,3
# o =5 =h @K—_%
=3 o =
- 3% — at\h—q "
i = %=

OREEL h(7,-1) 25, = 9%
J_'?;S *=12 W= ;%X _%T

Yy =(&x +a

== 5
O throuah Cl,~T) same slopes -
s S o @ 5 O“B ( per%ww(a

Grewer = slopSiwtercep form

need . powt Cé,—')) |
sl m=-3 .
3x+5=10 opﬂb —y,=m(X ) o?poS’t‘e T)G‘C\prom—
Bl —7) = -3x ) )(« 3
. rczmm‘!

@ Y7 =-3%+18

'Par'-—a—‘geksamg lj = —3‘)('{'\?"—?
= 73
(3 Hhough (=37) ;
A —Tu =
e in <Randard Porr)w

el
w%ﬁ?-f&mpmm\ == U“ H_‘Eb)
cLlon ab—\q- = = =

= Ty 3y = — 4
Crrea="%



/@ R D (,3) m=3 2 5

tart
F St

Ol
_50\
—Pe

N
Sﬁvﬁ: direchens

X\9 o

=
(59 F=| vetel OO GErmzw

60 [G=F] heizontel
int
o
B —4(0) +3lo) £-12 so ©,0)

+ < — is hor Q
0 &£71a solu

= g’éﬁ%m

N
\




@ @ (-2,6) and (6,-5) "\

(it i

hori zorial Yest (0,0) mid point >
ed ' - =
dott 0>~ (e B = @ng
rl r\ (’\ \] “/} / @ Q}I»&Jr) and (—9,‘7)
AEAR K . N
N )

@ (4,0) trd (~2,0)

g e 00

test poutl =
(0,0) o
t;u con USe ’% :%
Ginu, pont not, i
on The \ina —a :‘U{s
YA
AN - 2%
_ -3 — G+
oz~ 1o =4x~%

frue = (0,0) —ig =9A
isa sdn\  _\¢
SO chade tho - =

side with (0,0)

distance formula
A= Ty =

@ ("R/'-I') Ol’d 6“3,7)
d = {(3-=) +(7-4)°
= {5 + 30 = {2+ 32 :{JJ‘O
® (7,12) and (s,-1)
d =\ (7-57° +(a——*%
d={amr3=> = {&+ed :@
© (09) ad (o)
d = ({0 +H—)>
d={0o> +0> =% '—'—




